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Instructions to the candidates:

1) All Questions are compulsory.
2) Neat diagram must be drawn wherever necessary.
3) Use of map stencils is allowed.
4) Figures to the right indicate full marks.
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Q1) Write the answers of following questions in 20 words (Any Eight): [16]
a) Write the definition of Commercial Geography.
b) Give any two application of Commercial Geography.
c) Give any two examples of secondary economic activity.
d) What is meant by primary economic activity?
e) In which economic activity, fishing, mining and agricultural activities are

included?
f) Give any two examples of non-renewable energy resources.
g) Give any two causes of deforestation.
h) What is a renewable resource?
i) State any two advantages of optimum population.
j) Define Migration.

Q2) Write a short note in about 50 words each (Any Three): [18]
a) Approaches of Commercial Geography.
b) Secondary economic activity.
c) Renewable resources.
d) Over population.

Q3) Write the answers of following questions in 100 words (Any Two): [16]
a) Explain Equatorial evergreen forest.
b) Write the nature, scope and importance of commercial geography.
c) Give the advantages of migration.

Q4) Write the answers of following questions in 300 words (Any one): [20]
a) Elaborate the physical and cultural factors affecting human economic activities.
b) State the characteristics of Indian population.


P.T.O.



2[5952]-108

Total No. of Questions : 4]

[5952]-108
First Year B.Com.

115 C : ELEMENTS OF COMMERCIAL GEOGRAPHY - I
(2019 CBCS Pattern) (Semester - I)

(‘amR>r ê$nm§Va)
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gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>mì¶mV.
3) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
4) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
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à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]
A) ì¶mnmar ŷJmobmMr ì¶m»¶m {bhm.
~) ì¶mnmar ŷJmobmMo H$moUVohr XmoZ Cn¶moJ gm§Jm.
H$) {ÛVr¶ loUrÀ¶m ì¶dgm¶mMr H$moUVrhr XmoZ CXmhaUo Úm.
S>) àmW{‘H$ loUrMo Am{W©H$ ì¶dgm¶ åhUOo H$m¶?
B) ‘mgo‘mar ImZH$m‘ d eoVr ho ì¶dgm¶ H$moUË¶m Am{W©H$ loUrÀ¶m ì¶dgm¶mV g‘m{dï> hmoVmVm?
’$) AnwZZ©{dH$aUr¶ D$Om© gmYZ g§nÎmrMr H$moUVohr XmoZ CXmhaUo Úm.
¶) O§Jbm§À¶m èhmgmMr XmoZ H$maUo Úm.
a) nwZZ©{dH$aUr¶ gmYZg§nÎmr åhUOo H$m¶?
b) n¶m©á bmoH$g§»¶oMo H$moUVrhr XmoZ ’$m¶Xo gm§Jm.
d) ñWbm§VamMr ì¶m»¶m {bhm.

à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXm§V {Q>nm {bhm. (H$moUË¶mhr VrZ) [18]
A) ì¶mnmar ŷJmobmÀ¶m Aä¶mg nÕVr
~) {ÛVr¶H$ Am{W©H$ loUrMo ì¶dgm¶
H$) nwZZ©{dH$aUr¶ gmYZ g§nXm
S>) A{V[aº$ bmoH$g§»¶m

à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. (H$moUË¶mhr XmoZ) [16]
A) {dfwdd¥Îmr¶ gXmharV O§Jbm§Mo dU©Z H$am.
~) ì¶mnmar ŷJmobmMo ñdê$n ì¶már d ‘hËd {bhm.
H$) ñWbm§VamMo ’$m¶Xo gm§Jm.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [20]
A) ‘mZdr Am{W©H$ {H«$¶m§da n[aUm‘ H$aUmao àmH¥${VH$ d gm§ñH¥${VH$ KQ>H$ {dñVmamZo {bhm.
~) ^maVr¶ bmoH$g§»¶oMr d¡{eï²>¶o g§mJm.
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